Bake Sale

Your class has decided to have a bake sale for a fund raiser. The students de-
cided on the following prices for baked goods.

Flyers were made and distributed around the community with the following
prices:

* 4 brownies for $1.25

e 5 cupcakes for $2.50

* 3 cookies for $1.00

¢ 1 cake for $4.50

e 1 pie for $5.00

e 2 popcorn balls for $.75

Part A

Two days before the bake sale, your math teacher said she would make 120
cookies if you give her a recipe listing the exact amount of each ingredient that
she will need to use.

Provide her with that information.

Part B

One day before the bake sale, your class sets a goal to raise at least $150.00
for this fundraiser. What quantities of baked goods do you recommend having
on hand to raise that amount at the sale?

Part C

The bake sale is finally here! The first person in line is your math teacher, and
she wants 6 of each item. HELP! Your price list is for different quantities. You
hear the words you have come to dread, “l want to see the math.” The people
are beginning to line up behind her. How much is her purchase so you can send
your teacher on her way?

exemplars.com Page 2
© 2023, Exemplars



Alternative Versions of the Task

More Accessible Version

Your class has decided to have a bake sale for a fundraiser. Two days before the bake sale your
math teacher said she would make 120 cookies if you list the correct amount of each ingredient
she will need. Use the recipe below to make this determination.

Peanut Butter Cookies (makes 2 1/2 dozen cookies)

1/2 cup sugar

1/2 cup brown sugar

1/2 cup peanut butter

1/4 cup shortening

1/4 cup butter

Tegg

1 1/4 cups flour

3/4 teaspoon baking soda

1/2 teaspoon baking powder

1/4 teaspoon salt

More Challenging Version

Your class has decided to have a bake sale. Each student in the class has been asked to bring in
an item to sell and is responsible for pricing the item s/he brought.

The teacher would like you to use the following method for setting a price:

* Cost to make entire recipe, plus a 50 percent profit, divided by the number of items you are selling.

* Get a recipe and determine the cost at which each cookie in your recipe will be sold. Be sure
to include the recipe you used, how you determined the price of each ingredient, and how you
determined the cost per cookie.
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Planning Sheet

Context
This task was given to students while studying proportions and ratios using the seventh grade
Mathscapes unit “Buyer Beware,” published by Creative Publications.

What This Task Accomplishes

This task allows students to use their knowledge of equal ratios and cross products to solve proportions
in a real-life situation. Students are also asked to select a recipe of their choice and increase it. Students
are then required to make decisions on the number of each type of item that should be available at
the bake sale. There is no one correct answer. The final task has students determining the total cost of
a purchase using ratio. This task is a multistep problem for students to solve. Multistep problems are a
part of the New Standards Reference Exam, and this task can provide much needed practice.

What the Student Will Do

Students will begin by finding a recipe that they would like to increase. Some students will recognize
that a recipe that is a factor of 120 will be easier to calculate than others. They will set up proportions
to solve the problem. Some will use calculators and fail to show their work.

Some students will attempt to determine how many items they need to sell at the bake sale. Some
will realize that they have been given 120 cookies from their teacher and will add that into their
calculations. Others will miss that connection. Some will miss this step in the problem altogether. The
final part of the task asks students to determine the cost of 6 of each item. Many students will set up
proportions to solve this part of the problem.

Time Required for Task
About 80 minutes. Some students needed additional time to write up their reasoning and organize
their response. Students also take a while in selecting the recipe they will use.

Interdisciplinary Links
This tasks links with family consumer science and the increasing or decreasing of recipes.
Fundraising is an activity that the students will be a part of sometime in the future.

Teaching Tips

Students were given an opportunity to use equal ratios and cross products to solve proportions in
various real-life situations. For students with special needs, this task could be modified by providing
students with a recipe appropriate to their level of computation mastery. The number of parts could
also be limited for some students.

Suggested Materials
e Calculators
e Cookbooks
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Possible Solutions

The recipe solutions will be based on the student’s choice of recipe. The amount of baked goods
needed to earn $150.00 should include the 120 cookies baked by the teacher, along with other
reasonable combinations. The teacher’s purchase totals $66.13.

More Accessible Version Solution:

2.5 dozen cookies x 12 = 30 cookies per batch
120 cookies + 30 cookies per batch = 4 batches

1/2 cup/teaspoons ingredients require 2 cups/teaspoons each
1/4 cup/teaspoons ingredients require 1 cup/teaspoons each

4 eggs
5 cups of flour needed
3 teaspoons baking soda needed

More Challenging Version Solution:

The solution will vary depending on the recipe the student chooses and the cost of each item.
Assess correctness of student solutions by considering the accuracy of mathematical computations.

Task Assessment Notes

Novice

The Novice will have no apparent approach. The recipe used by the student will not be included, so
it will be impossible to see if the calculations are correct. Not all parts of the problem will be solved,
and it will not be clear where the numbers came from for the solution that is present. There will be no
explanation of the solution, little or no use of math language, and no math representations.

Apprentice

The Apprentice will have a partially correct solution. The Apprentice will have a workable solution for

increasing the recipe to 120 cookies. The Apprentice will have no justification for the number of items
to be sold at the bake sale to reach the goal of $150.00. The calculation of the teacher’s purchase will
be incorrect. There may be math representation, and some math language present in the solution.

Practitioner

The Practitioner will have a strategy to solve all parts of the task. The answers will be correct. The
student will use accurate and appropriate math language and math representation. The student will
explain the approach and the reasoning used, and all the work will be present.

Expert

The Expert will have a strategy that leads to correct answers to all parts of the task. The Expert will
use appropriate math language and math representation. The Expert will verify a part of the solution
using another mathematical process or will make other mathematically relevant comments or
observations about the solution.
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Apprentice
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Apprentice
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Practitioner
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Practitioner
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Practitioner
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Practitioner
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Expert

Tve \ast o) estioN oS K\ed e
X6 \\I& m% o+ reacv ey
Lo D—F cod ltem. o Yo © \aure
Har our 13did i +wo.
woys. One  way | dividesd Y
Cost of eacn |tem Voy Vow many
Hey would oo sold vn Hen )
Mulliplico e loecaus-

Wats \Aouo many  ohe
wanted. Anoter® way did
owas ahouama pro@or—hms

The student solves the task in
more than one way to verify
the solution.

exemplars.com Page 14
© 2023, Exemplars



Expert
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Expert
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Expert
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Expert
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Expert
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Expert
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